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Keelan and Kenzie: please read the questions carefully. Underline the word, or group of
words, that tells you if you are adding or subtracting. Then work out the answer.

. Daniel bought 24 Harry Potter cards at the shop. Outside, he met Emma, who had
35 cards. How many did they have altogether?

. Adam got 70p off his mum. He went to the shop and bought a 25p bag of sweets.
How much did he have left?

. A bottle of tomato sauce holds 5gml. Luke used 16 ml on his lunch. How much was
left?

. Year 6 has 62 children in it. Year 5 has 19 fewer children. How many children are in
Year 5?

. What is the sum of 54 and 67?

. Jake has 56 conkers. He gives 27 conkers to his sister. How many conkers does Jake
have left?

. What is the difference between these 2 ribbons?

8. There are 4o cars in the car park. 25 are blue, 12 are red and the rest are black. How
many black cars are there?




